

SOME BOUNDS FOR ZEROS OF A POLYNOMIAL WITH RESTRICTED COEFFICIENTS

MAHNAZ SHAFI CHISHTI^{a,*}, VIPIN KUMAR TYAGI^b
AND MOHAMMAD IBRAHIM MIR^c

ABSTRACT. For a Polynomial $P(z) = \sum_{j=0}^n a_j z^j$ with $a_j \geq a_{j-1}$, $a_0 > 0$ ($j = 1, 2, \dots, n$), a classical result of Enestrom-Keakeya says that all the zeros of $P(z)$ lie in $|z| \leq 1$. This result was generalized by A. Joyal et al. [3] where they relaxed the non-negative condition on the coefficients. This result was further generalized by Dewan and Bidkham [9] by relaxing the monotonicity of the coefficients. In this paper, we use some techniques to obtain some more generalizations of the results [3], [8], [9].

1. INTRODUCTION

The fundamental theorem of Algebra gives the guarantee for existence of as many zeros of a polynomial as its degree in the complex plane. But the impossibility of solving algebraically a polynomial equation of degree greater than 4 is an important problem in the history of Mathematics. Thus Mathematicians studied to identify the regions in a complex plane containing some or all the zeros of a given polynomial. The first result concerning the location of zeros of a polynomial was probably due to Gauss [1]. However, Enestrom and Keakeya independently put condition on the coefficients of a polynomial and proved the following elegant result [1] which is well known in the theory of distribution of the zeros of polynomials.

Theorem 1.1. *If $P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$ is a polynomial of degree n such that $a_n \geq a_{n-1} \geq \dots \geq a_1 \geq a_0 > 0$, then all the zeros of $P(z)$ lie in $|z| \leq 1$.*

This result is limited in scope as the hypothesis is very restrictive and the result does not hold for the polynomials with non-negative coefficients. There are many

Received by the editors July 3, 2023. Revised December 2, 2023. Accepted December 11, 2023.

2020 *Mathematics Subject Classification.* 12D10, 12D05.

Key words and phrases. bound, coefficient, polynomial, zeros.

*Corresponding author.

extensions and generalizations of Enestrom-Keakeya theorem in literature [7, 4, 6]. In this direction, Joyal et al. [3] proved the following result for polynomials with coefficients monotone but not positive.

Theorem 1.2. *Let $P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$ be a polynomial of degree n such that $a_n \geq a_{n-1} \geq \dots \geq a_1 \geq a_0$, then all the zeros of $P(z)$ lie in the disk $|z| \leq \frac{a_n - a_0 + |a_0|}{|a_n|}$.*

For a more general class of polynomials, Aziz and Zargar [8] proved the following generalization of Theorem 1.2.

Theorem 1.3. *If $P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$ is a polynomial of degree n such that for some $k \geq 1$, $ka_n \geq a_{n-1} \geq \dots \geq a_1 \geq a_0$, then $P(z)$ has all its zeros in $|z + k - 1| \leq \frac{ka_n - a_0 + |a_0|}{|a_n|}$.*

However, in this direction Dewan and Bidkham [9] obtained an interesting result by relaxing the condition of monotonicity of the coefficients. Infact, they proved the following result.

Theorem 1.4. *If $P(z) = a_n z^n + a_{n-1} z^{n-1} + \dots + a_1 z + a_0$ is a polynomial of degree n such that $a_n \leq a_{n-1} \leq \dots \leq a_\lambda \geq a_{\lambda-1} \geq \dots \geq a_1 \geq a_0$, then $P(z)$ has all its zeros in $|z| \leq \frac{1}{|a_n|} \{2a_\lambda - a_n - a_0 + |a_0|\}$.*

The aim of this paper is to prove some generalizations of Theorem 1.3 and Theorem 1.4, which are also extensions of Theorem 1.1.

2. MAIN THEOREMS

Theorem 2.1. *Let $P(z) = \sum_{j=0}^n a_j z^j$ be a polynomial of degree n such that for some $k_1 \geq 1$, $k_2 \geq 1$, $k_1 a_n \geq k_2 a_{n-1} \geq a_{n-2} \geq \dots \geq a_1 \geq a_0$. Then all the zeros of $P(z)$ lie in*

$$\left| z + \frac{(k_1 - 1) a_n - (k_2 - 1) a_{n-1}}{a_n} \right| \leq \frac{1}{|a_n|} \{k_1 a_n - (k_2 - 1) a_{n-1} - a_0 + |a_0|\}.$$

Remark 2.1. Taking $k_1 = k$, $k_2 = 1$ in Theorem 2.1, we obtain Theorem 1.3.

Theorem 2.2. *Let $P(z) = \sum_{j=0}^n a_j z^j$ be a polynomial of degree n such that for some $k_1 \geq 1$, $k_2 \geq 1$, $k_1 a_n \leq k_2 a_{n-1} \leq \dots \leq a_\lambda \geq a_{\lambda-1} \geq \dots \geq a_1 \geq a_0$ ($0 \leq \lambda \leq n - 1$).*

Then all the zeros of $P(z)$ lie in

$$\left| z + \frac{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}}{a_n} \right| \leq \frac{1}{|a_n|} \left\{ \begin{array}{c} 2a_\lambda - k_1 a_n + (k_2 - 1)a_{n-1} - a_0 \\ + |a_0| \end{array} \right\}.$$

Remark 2.2. By taking $k_1, k_2 = 1$, we obtain Theorem 1.4 and by taking $k_1 = k$, $k_2 = 1$ we obtain a result due to Shah and Liman [2] and for $\lambda = 0$ we get Theorem 1.3.

Theorem 2.3. Let $P(z) = \sum_{j=0}^n a_j z^j$ be a polynomial of degree n such that for some $k_\lambda \geq 1$, $\lambda = 1, 2, \dots, n$, $k_1 a_n \geq k_2 a_{n-1} \geq \dots \geq k_{\lambda-1} a_{n-\lambda+2} \geq k_\lambda a_{n-\lambda+1} \geq a_{n-\lambda} \geq \dots \geq a_1 \geq a_0$. Then all the zeros of $P(z)$ lie in

$$\left| z + \frac{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}}{a_n} \right| \leq \frac{1}{|a_n|} \left\{ \begin{array}{c} k_1 a_n - (k_2 - 1)|a_{n-1}| \\ + 2 \sum_{j=2}^{\lambda} (k_j - 1)|a_{n-j+1}| - a_0 \\ + |a_0| \end{array} \right\}.$$

Remark 2.3. Theorem 2.3 is a generalization of a result due to Shah and Liman [2] for $k_1 = k$ and $k_j = 1$; $j = 2, \dots, \lambda$. Theorem 2.3 is also an extended generalization of a result due to Joyal et al. [3].

PROOF OF MAIN THEOREM

Proof of Theorem 2.1. Consider a polynomial

$$\begin{aligned} F(z) &= (1-z)P(z) \\ &= \left[\begin{array}{c} -a_n z^{n+1} + (a_n - a_{n-1})z^n + (a_{n-1} - a_{n-2})z^{n-1} + \dots \\ + (a_1 - a_0)z + a_0 \end{array} \right] \\ &= \left[\begin{array}{c} -a_n z^{n+1} - \{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}\}z^n \\ + \left\{ \begin{array}{c} (k_1 a_n - k_2 a_{n-1})z^n + (a_{n-1} - a_{n-2})z^{n-1} + \\ \dots + (a_1 - a_0)z + a_0 \end{array} \right\} \end{array} \right] \end{aligned}$$

which implies

$$|F(z)| \geq \left[\begin{array}{c} |z|^n |a_n z + (k_1 - 1)a_n - (k_2 - 1)a_{n-1}| \\ - |(k_1 a_n - k_2 a_{n-1})z^n + \dots + a_0| \end{array} \right].$$

Let $|z| > 1$ so that $\frac{1}{|z|} < 1$, which implies $\frac{1}{|z|^{n-j}} < 1$; $j = 0, 1, 2, \dots, n-1$, therefore we have

$$|F(z)| \geq |z|^n \left[\begin{array}{c} |a_n z + (k_1 - 1)a_n - (k_2 - 1)a_{n-1}| \\ - \left\{ \begin{array}{c} |k_1 a_n - k_2 a_{n-1}| + |a_{n-1} - a_{n-2}| \frac{1}{|z|} + \\ \dots + |a_1 - a_0| \frac{1}{|z|^{n-1}} + |a_0| \frac{1}{|z|^n} \end{array} \right\} \end{array} \right].$$

$$\begin{aligned}
&\geq |z|^n \left[- \left\{ \begin{array}{l} |a_n z + (k_1 - 1)a_n - (k_2 - 1)a_{n-1}| \\ |k_1 a_n - k_2 a_{n-1}| + |a_{n-1} - a_{n-2}| + \\ \dots + |a_1 - a_0| + |a_0| \end{array} \right\} \right] \\
&= |z|^n [|a_n z + (k_1 - 1)a_n - (k_2 - 1)a_{n-1}| \\
&\quad - k_1 a_n - (k_2 - 1)a_{n-1} - a_0 + |a_0|] > 0,
\end{aligned}$$

if

$$\left| z + \frac{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}}{a_n} \right| > \frac{1}{|a_n|} \{k_1 a_n - (k_2 - 1)a_{n-1} - a_0 + |a_0|\}$$

Therefore, it follows that the zeros of $F(z)$ with $|z| > 1$ lie in

$$\left| z + \frac{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}}{a_n} \right| \leq \frac{1}{|a_n|} \{k_1 a_n - (k_2 - 1)a_{n-1} - a_0 + |a_0|\}.$$

But the zeros of $F(z)$ having modulus less than or equal to 1 already lie in this region and since all the zeros of $F(z)$ are also the zeros of $P(z)$, it follows that all the zeros of $P(z)$ lie in the disk

$$\left| z + \frac{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}}{a_n} \right| \leq \frac{1}{|a_n|} \{k_1 a_n - (k_2 - 1)a_{n-1} - a_0 + |a_0|\}.$$

This completes the proof of Theorem 2.1. \square

Example 2.1. Theorem 2.1 gives better result than that obtained by Theorem 1.3 and Theorem 1.4. Consider the polynomial $P(z) = z^7 + 3z^6 + 3z^5 + 2z^4 + 2z^3 + 2z^2 + 2z + 1$ of degree 7. By taking $k_1 = 5$, $k_2 = 1$ in Theorem 1.3 and Theorem 1.4, the zeros of $P(z)$ lie in $|z + 4| \leq 5$. However, by taking $k_1 = 5$, $k_2 = 3$ in Theorem 2.1, all the zeros of $P(z)$ lie in the circle $|z + 1| \leq 2$.

Proof of Theorem 2.2. Consider a polynomial $F(z) = (1 - z)P(z)$, then

$$\begin{aligned}
F(z) &= (1 - z)P(z) \\
&= -a_n z^{n+1} + (a_n - a_{n-1})z^n + (a_{n-1} - a_{n-2})z^{n-1} + \dots + (a_1 - a_0)z \\
&\quad + a_0 \\
&= \left[\begin{array}{l} -a_n z^{n+1} - \{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}\}z^n + (k_1 a_n - k_2 a_{n-1})z^n \\ + \{(a_{n-1} - a_{n-2})z^{n-1} + \dots + (a_1 - a_0)z + a_0\} \end{array} \right] \\
&= \left[\begin{array}{l} -z^n [a_n z + (k_1 - 1)a_n - (k_2 - 1)a_{n-1}] + (k_1 a_n - k_2 a_{n-1})z^n \\ + \{(a_{n-1} - a_{n-2})z^{n-1} + \dots + (a_1 - a_0)z + a_0\} \end{array} \right]
\end{aligned}$$

Let $|z| > 1$, then $\frac{1}{|z|} < 1$, therefore $\frac{1}{|z|^j} < 1$; $j = 0, 1, 2, \dots, n-1$. Hence, we have

$$\begin{aligned}
|F(z)| &\geq |z|^n \left[- \left\{ \begin{array}{l} |a_n z + (k_1 - 1)a_n - (k_2 - 1)a_{n-1}| \\ |k_1 a_n - k_2 a_{n-1}| + |a_{n-1} - a_{n-2}| \frac{1}{|z|} + \dots \\ + |a_{\lambda+1} - a_\lambda| \frac{1}{|z|^{n-\lambda-1}} + |a_\lambda - a_{\lambda-1}| \frac{1}{|z|^{n-\lambda}} + \dots \\ + |a_1 - a_0| \frac{1}{|z|^{n-1}} + |a_0|^n \end{array} \right\} \right] \\
|F(z)| &\geq |z|^n \left[- \left\{ \begin{array}{l} |a_n z + (k_1 - 1)a_n - (k_2 - 1)a_{n-1}| \\ |k_1 a_n - k_2 a_{n-1}| + |a_{n-1} - a_{n-2}| + \dots \\ + |a_{\lambda+1} - a_\lambda| + |a_\lambda - a_{\lambda-1}| + \dots \\ + |a_1 - a_0| + |a_0| \end{array} \right\} \right] \\
&= |z|^n \left[- \{2a_\lambda - k_1 a_n + (k_2 - 1)a_{n-1} - a_0 + |a_0|\} \right] \\
&> 0,
\end{aligned}$$

if

$$\left| z + \frac{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}}{a_n} \right| > \frac{1}{|a_n|} \{2a_\lambda - k_1 a_n + (k_2 - 1)a_{n-1} - a_0 + |a_0|\}.$$

Hence all the zeros of $F(z)$ with $|z| > 1$ lie in

$$\left| z + \frac{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}}{a_n} \right| \leq \frac{1}{|a_n|} \left\{ \begin{array}{l} 2a_\lambda - k_1 a_n \\ + (k_2 - 1)a_{n-1} - a_0 + |a_0| \end{array} \right\}.$$

Since all the zeros of $F(z)$ with $|z| \leq 1$ already lie in this region and since all the zeros of $F(z)$ are also the zeros of $P(z)$, it follows that all the zeros of $P(z)$ lie in the region

$$\left| z + \frac{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}}{a_n} \right| \leq \frac{1}{|a_n|} \{2a_\lambda - k_1 a_n + (k_2 - 1)a_{n-1} - a_0 + |a_0|\}.$$

This completes the proof of Theorem 2.2. \square

Example 2.2. Theorem 2.2 gives a better result than Theorem 1.4. Consider a polynomial $P(z) = 2z^6 + 3z^5 + 7z^4 + 9z^3 + 6z^2 + 3z + 1$ of degree 6, then by applying Theorem 1.4, it follows that the zeros of $P(z)$ lie in $|z| \leq 8$. However, by applying Theorem 2.2 for $k_1 = 3$ and $k_2 = 2$, the zeros of $P(z)$ lie in $|z + \frac{1}{2}| \leq \frac{9}{2}$.

Proof of Theorem 2.3. Consider a polynomial

$$\begin{aligned}
F(z) &= (1 - z)P(z) \\
&= -a_n z^{n+1} + \{(a_n - a_{n-1})z^n + \dots + (a_1 - a_0)z + a_0\}
\end{aligned}$$

$$\begin{aligned}
&= a_n z^{n+1} + z^n \left[\begin{aligned} &(a_n - a_{n-1}) + (a_{n-1} - a_{n-2}) \frac{1}{z} + \dots \\ &+ (a_{n-\lambda+2} - a_{n-\lambda+1}) \frac{1}{z^{\lambda-2}} + (a_{n-\lambda+1} - a_{n-\lambda}) \frac{1}{z^{\lambda-1}} \\ &+ (a_{n-\lambda} - a_{n-\lambda-1}) \frac{1}{z^\lambda} + \dots + (a_1 - a_0) \frac{1}{z^{n-1}} + a_0 \frac{1}{z^n} \end{aligned} \right] \\
&= -a_n z^{n+1} \\
&\quad + z^n \left[\begin{aligned} &\{-(k_1 - 1) a_n + (k_2 - 1) a_{n-1} + (k_1 a_n - k_2 a_{n-1})\} \\ &+ \{-(k_2 - 1) a_{n-1} + (k_3 - 1) a_{n-2} + (k_2 a_{n-1} - k_3 a_{n-2})\} \frac{1}{z} \\ &+ \dots + \left\{ \begin{aligned} &-(k_{\lambda-1} - 1) a_{n-\lambda+2} + (k_\lambda - 1) a_{n-\lambda+1} \\ &+ (k_{\lambda-1} a_{n-\lambda+2} - k_\lambda a_{n-\lambda+1}) \end{aligned} \right\} \frac{1}{z^{\lambda-2}} \\ &+ \{-(k_\lambda - 1) a_{n-\lambda+1} + (k_\lambda a_{n-\lambda+1} - a_{n-\lambda})\} \frac{1}{z^{\lambda-1}} \\ &+ \{(a_{n-\lambda} - a_{n-\lambda-1}) \frac{1}{z^\lambda} + \dots + (a_1 - a_0) \frac{1}{z^{n-1}} + a_0 \frac{1}{z^n}\} \end{aligned} \right] \\
&= \left[\begin{aligned} &-a_n z^{n+1} + z^n \{-(k - 1) a_n + (k_2 - 1) a_{n-1}\} + (k_1 a_n - k_2 a_{n-1}) \\ &+ \{-(k_2 - 1) a_{n-1} + (k_3 - 1) a_{n-2} + (k_2 a_{n-1} - k_3 a_{n-2})\} \frac{1}{z} + \\ &\dots + \left\{ \begin{aligned} &-(k_{\lambda-1} - 1) a_{n-\lambda+2} + (k_\lambda - 1) a_{n-\lambda+1} \\ &+ (k_{\lambda-1} a_{n-\lambda+2} - k_\lambda a_{n-\lambda+1}) \end{aligned} \right\} \frac{1}{z^{\lambda-2}} + \\ &\quad \{-(k_\lambda - 1) a_{n-\lambda+1} + (k_\lambda a_{n-\lambda+1} - a_{n-\lambda})\} \frac{1}{z^{\lambda-1}} \\ &+ \{(a_{n-\lambda} - a_{n-\lambda-1}) \frac{1}{z^\lambda} + \dots + (a_1 - a_0) \frac{1}{z^{n-1}} + a_0 \frac{1}{z^n}\} \end{aligned} \right]
\end{aligned}$$

Let $|z| > 1$, then $\frac{1}{|z|} < 1$ and hence $\frac{1}{|z|^j} < 1$; $j = 0, 1, 2, \dots, n - 1$.

Therefore

$$\begin{aligned}
|F(z)| &\geq |z|^n \left[\begin{aligned} &|a_n z + (k - 1) a_n - (k_2 - 1) a_{n-1}| \\ &- \left\{ \begin{aligned} &|k_1 a_n - k_2 a_{n-1}| + (k_2 - 1) |a_{n-1}| + (k_3 - 1) |a_{n-2}| \\ &+ |k_2 a_{n-1} - k_3 a_{n-2}| + \dots + (k_{\lambda-1} - 1) |a_{n-\lambda+2}| \\ &+ (k_\lambda - 1) |a_{n-\lambda+1}| + |k_{\lambda-1} a_{n-\lambda+2} - k_\lambda a_{n-\lambda+1}| \\ &+ (k_\lambda - 1) |a_{n-\lambda+1}| + |k_\lambda a_{n-\lambda+1} - a_{n-\lambda}| \\ &+ |a_{n-\lambda} - a_{n-\lambda-1}| + \dots + |a_1 - a_0| + |a_0| \end{aligned} \right\} \end{aligned} \right] \\
&\geq |z|^n \left[\begin{aligned} &|a_n z + (k_1 - 1) a_n - (k_2 - 1) a_{n-1}| \\ &- \left\{ \begin{aligned} &k_1 a_n - (k_2 - 1) |a_{n-1}| \\ &+ 2 \sum_{j=2}^{\lambda} (k_j - 1) |a_{n-\lambda+1}| - a_0 + |a_0| \end{aligned} \right\} \end{aligned} \right] \\
&> 0,
\end{aligned}$$

if

$$\left| z + \frac{(k_1 - 1) a_n - (k_2 - 1) a_{n-1}}{a_n} \right| > \frac{1}{|a_n|} \left\{ \begin{aligned} &k_1 a_n - (k_2 - 1) |a_{n-1}| + \\ &+ 2 \sum_{j=2}^{\lambda} (k_j - 1) |a_{n-\lambda+1}| - a_0 + |a_0| \end{aligned} \right\}.$$

Hence all the zeros of $F(z)$ with $|z| > 1$ lie in

$$\left| z + \frac{(k_1 - 1) a_n - (k_2 - 1) a_{n-1}}{a_n} \right| \leq \frac{1}{|a_n|} \left\{ \begin{aligned} &k_1 a_n - (k_2 - 1) |a_{n-1}| + \\ &+ 2 \sum_{j=2}^{\lambda} (k_j - 1) |a_{n-\lambda+1}| - a_0 + |a_0| \end{aligned} \right\}.$$

Since all the zeros of $F(z)$ with $|z| \leq 1$ already lie in this region and since all the zeros of $F(z)$ are also the zeros of $P(z)$, therefore it follows that all the zeros of the polynomial $P(z)$ lie in

$$\left| z + \frac{(k_1 - 1)a_n - (k_2 - 1)a_{n-1}}{a_n} \right| \leq \frac{1}{|a_n|} \left\{ 2 \sum_{j=2}^{\lambda} (k_j - 1) |a_{n-\lambda+1}| - a_0 + |a_0| \right\}.$$

□

3. CONCLUSION

The results obtained in this paper give better bounds for the zeros of a polynomial as compared to the results available in literature. The applicability of our results has been demonstrated by examples. These results can be further extended for polynomials with Quaternionic variables and to other fields, hence has very good scope for further research. Besides, the zero bounds of polynomial has applications in various subjects like Algebraic Number Theory, Hilbert Space Theory, Computer Science, Cryptography, Engineering etc.

REFERENCES

1. M. Marden: *Geometry of Polynomials*. Amer. Math. Soc. Providence **40**, 1949.
2. W.M. Shah & A. Liman: On Enestrom-Kakeya theorem and related Analytic Functions. *Proc. Indian Acad. Sci (Math. Sci.)* **117** (2007), no. 3, 359-370. <https://doi.org/10.1007/s12044-007-0031-z>
3. A. Joyal, G. Labelle & Q.I. Rahman: On the Location of Zeros of Polynomials. *Canad. Math. Bull.* **10** (1967), no. 1, 53-60. <https://doi.org/10.4153/CMB-1967-006-3>
4. A. Aziz & B.A. Zargar: Some Refinements of Enestrom-Kakeya theorem. *Analysis in Theory and Applications* **23** (2007), no. 2, 129-137. <https://doi.org/10.1007/s10496-007-0129-2>
5. Q.I. Rahman & G. Schmeisser: *Analytic Theory of the Polynomials*. Oxford University Press **26**, 2002.
6. N.A. Rather, I. Dar & A. Iqbal: On the Regions containing all the Zeros of Polynomials and related Analytic Functions. *Vestnik of St. Petersburg University. Mathematics. Mechanics. Astronomy* **8** (2021), no. 2, 331-337. <https://doi.org/10.21638/spbu01.2021.212>
7. A. Aziz & Q.G. Mohammad: Zero-free regions for Polynomials and some Generalizations of Enestrom-Kakeya theorem. *Canad. Math. Bull.* **27** (1984) 265-272. <https://doi.org/10.4153/CMB-1984-040-3>

8. A. Aziz & B.A Zargar: Some extensions of Enestrom-Kekeya theorem. *Glas, Mate.* **31** (1996), 239-244.
9. K.K. Dewan & M. Bidkham: On the Enestrom-Kekeya theorem. *J. Math. Anal. Appl.* **180** (1993), no. 1, 29-36. <https://doi.org/10.1006/jmaa.1993.1379>

^aRESEARCH SCHOLAR: SCHOOL OF BASIC AND APPLIED SCIENCES, SHOBHIT INSTITUTE OF ENGINEERING AND TECHNOLOGY (DEEMED TO BE UNIVERSITY) MEERUT, UTTAR PRADESH-250110, INDIA

Email address: mahnazchishti110@gmail.com

^bPROFESSOR: SCHOOL OF BASIC AND APPLIED SCIENCES, SHOBHIT INSTITUTE OF ENGINEERING AND TECHNOLOGY (DEEMED TO BE UNIVERSITY) MEERUT, UTTAR PRADESH-250110, INDIA

Email address: vipin@shobhituniversity.ac.in

^cSENIOR ASSISTANT PROFESSOR: DEPARTMENT OF MATHEMATICS, UNIVERSITY OF KASHMIR, SOUTH CAMPUS, ANANTNAG, JAMMU AND KASHMIR, INDIA

Email address: ibrahimath80@gmail.com